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Lycée Ibn Taimya, Marrakech, 
SPE, DS2 March, 2020
Multiple Choice Exercise: (12 marks; 0,5 each)
1. By the time March ends in a few days, we ……………….. together for about 7 months.

    a)will have worked

b)will be working


c)work


d)are working

2. More reliable sources of water ……………….. if we want to improve farming in the third world.

    a)should have found

b)should be found

c)should be finding
d)should find

3. Many concerned people ……………. rather live simpler lives than see the environment destroyed.

    a)had



b)did



c)would


d)could

4. ……………. from a happier family, the criminal might never have ended up in prison.

   a)if he came


b)If he comes


c)If he would’ve come
d)Had  he come

5. At this time next week, many of you ………… advantage of our vacation to review some of the work you’ve done this year. 

   a)will be taking


b)will have taken 


c)are to take

d)will take

6. He tried to work in Russia, but it was too cold for him. He couldn’t ……………in such a cold climate.

   a)living


b)get used to living

c)be used to live

d)use to live

7. Industrialised countries pretend that they had no idea their industries ……………….. contribute much to global warming. 

   a)will



b)shall



c)would


d)is going 

8. Many developing countries ……………..the benefits of the Internet now if they had developed their infrastructure.

   a)are enjoying


b)will be enjoying

c)enjoy


d)would be enjoying

9. In the last conference on global warming in Canada, all summiteers were committed………their CO2 emissions by 20%. 

   a)to cutting 


b)for the cut


c)in cutting

d)to cut

10. The digital divide is widening between the rich and the poor countries. So it high time decision-makers………….appropriate solutions to narrow this gap.

   a)to find


b)found



c)have found

d)are finding

11. Newly industrialised still prefer …………..fossil fuels to keep their industry humming to other sources of energy.

   a)to use



b)the use



c)using


d)to using 

12.In the past many children …………. die from childhood diseases such as measles and mumps, but now these diseases can be prevented.       

   a)were used to


b)got used to


c)were used

d)used to

13. If governments had informed people of the dangers of smoking, the cancer rate ……………so dramatically.

   a)would have decreased 

b) had decreased


c) have decreased

d)decreased

14. The officials in Morocco have promised that most unemployed graduates……………… jobs by next August.

   a)will offer


b)will have been offered

c)will have offered

d)be offered

15.  As for the Internet, developed countries ……….. focus on the quality of connection in developing countries than on the number of the net  users.

   a)prefer


b)would prefer


c)would rather

d)’d prefer

16. All people all over the world wish we ……………..in a world full of peace and love.

   a)live



b)living



c)had lived

d)lived

17. The world is getting warmer and warmer. We all wish that industrialised countries ……………. their CO2 emissions.

   a)would cut


b)are cutting


c)will cut

d)need to cut

18. ………………………………………….such a disastrous tsunami before.

   a) Never the world has seen     b) Never has the world seen
  c)The world never has seen    d) Has the world never seen

19. The infrastructure development and human capacity building are ……..the rapid growth of information and communication technologies.  

   a) critic to achieve

b) critic to achieving

c)critical to achieving
d)critical to being archived

20. By the end of the year, you …………………………... three English tests.

   a)will be having


b)will have


c)will have been had
d)will have had

21. The fight against underdevelopment …………… over if the debts of the world’s poorest countries ……..cancelled.

  a)will be/are


b)would be/were


c)are/will be

d)were/would be

22. He had made a mistake, he thought. He ……………..have borrowed the money.

  a)couldn’t


b)shouldn’t 


c)may not

d)won’t

23. The tourism industry in rural areas ……………more profitable if the authorities ……………..the infrastructure there.   
      

  a) would be/ develops

b) would have been/develop
c)would be/developed
d)be/would develop

24. He sounds very pleased. He ………………….an excellent mark.

  a)can be having


b)would be having

c)should have had
d)might have had
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How the Internet is failing the developing world

     One of the promises of the information revolution was that it would increase the opportunities for all people to share knowledge. But what if you don't happen to live in a developed country? Subbiah Arunachalam argues that the current lack of access to the internet for scientists in the developing world is creating a new form of poverty - information poverty - which is making it harder for them *to stay abreast, let alone catch up with their colleagues in the developed world

To be a scientist in a developing country is to be on the periphery of world science - one's work goes unnoticed. A scientist in a developing country, who invariably works under adverse conditions, needs to achieve a lot more to win recognition than those who work under much better conditions in the developed countries. Perhaps this is not surprising. After all, we live in an unequal world and technology tends to exacerbate this inequality and further marginalize scientists on the periphery. 

     The situation in Africa is even worse. A Nigerian professor once told the journalist Seun Ogunseitan, "When you call some of us scientists, we laugh at ourselves. We know we can no longer make contributions to science, I do not know what my colleagues in Kenya or London have found, for example. So I cannot carry out an experiment and believe I am on the path to an original contribution to the sciences. If I have been giving generations of students the same notes for the last ten years, I should not call myself a scientist." Says Ogunseitan, "Many people in our universities are not sure what is the state of science. Scientists often have to rely on what they are told, for example, by newspapers, by friends or by Time magazine. How can such people ever become authoritative and confident scientists?"

     Today, many primary journals and secondary services have gone electronic. As an editorial in Science pointed out, "*Digital publishing has much to recommend it over print publishing for practical if not for aesthetic reasons. Uncomfortable *tradeoffs are involved, to be sure, but the gains include ease of access, rapid delivery over great distances, and hypertext links from indexing services and bibliographic citations to the full text of cited documents."

     But to access information in cyberspace one first needs access to the corresponding electronic technology, and most scientists and scholars in the developing countries do not have access to the new information technologies. Thus the transition to electronic publishing from print will certainly widen the gap between the developed countries and the developing countries, and will further marginalize the already marginalized scientists and scholars in the developing countries.

    Most developing countries, especially those with large populations, do not have the necessary infrastructure to be able to take part as equal partners in the worldwide enterprise of knowledge production and dissemination. According to Bruce Girard, former director of Latin America's community radio Pulsar, 95% of ail computers are in the developed nations; ten developed nations, accounting for only 20% of the word’s population have three quarters of the word’s telephone lines. 

     Many universities in India do not have e-mail or Internet facilities. Some have 1.2 or 2.4 kbps connections. With such low bandwidths and poor terrestrial telephone connections, one can at best send and receive e-mail messages but cannot surf the net or do online searches. The simple truth is that the information superhighway is not bringing the fruits of cyberspace to all. Not yet. There are far too many people in the developing world who have not been touched by the information revolution - the have-nots and the know-nots who risk being always behind. In contrast, virtually every physicist in the United States and the UK will have access to an Internet/e-mail terminal. The relative disadvantage of developing country scientists becomes obvious.

*to stay abreast: (Fr: se tenir au courant de / *Digital publishing: (Fr: edition numérique)/  *tradeoffs: exchange of one thing in return for another but which are opposed to each other
A. Say whether these sentences are Supported or Contradicted. Give line number(s) where justification is found:(1mark; 0,5 each)

    1. A scientist’s work in a poor country is worth as much consideration as one of a developed country.

    2. The rapid development in information technologies mainly in the field of publishing has helped the developing countries to narrow that    

        digital divide.
B. Copy the chart on your own paper and fill in it using  information from the text: (3 marks; 0,5 mark each)

	How  the internet fails scientists in the developing countries
	The reasons for this failure

	
	


C. Complete the following sentences, showing your understanding of the text. DON’T COPY the text and don’t use the same idea in 2 

     different sentences: (4 marks; 1 mark each)  

1. Scientists in developing countries believe that information technologies……………………….. but also ………………………….. .
2. In Nigeria, university students and teachers …………………………………………………………………………………….…….. .

3. Both writers and publishing houses favour now ………………………………… because ……….…………………………………. .

4. The increasing number of people without a access to information technologies shows that...………………………………………….

D. COMMENTARY. Answer the following questions. Develop your ideas. Each answer 50 words minimum. (12 marks; 6 marks each)

1. What hinders African scientists from keeping pace with the quick advancement in the new technologies?
2. In your opinion, how can the developing countries overcome the existing inequality in the information technologies? 
E. TRANSLATION. Translate the following sentences into French: (8 marks; 2 marks each) 

1. One of the promises of the information revolution was that it would increase the opportunities for all people to share knowledge.

2. If I have been giving generations of students the same notes for the last ten years, I should not call myself a scientist.

3. Thus the transition to electronic publishing from print will certainly widen the gap between the developed countries and the developing countries.

4. If developing countries, especially those with large populations, had the necessary infrastructure, they would be  to be able to take part as equal partners in the worldwide enterprise of knowledge production and dissemination.
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